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The ﬁghres in the margin indicate full marks
for the questions.

Answer either in English or in Assamese.

1. Choose the correct answer : 1x10=10

- % e AR Bfredt

(@) The relationship between a banker and
customer is :

R W A o FE T 2
(i) That of 'a debtor and creditor
(T LC B S ) ) G
[Turn over
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(ii) That of creditor ‘and:debtor - «
+ YNSAMIR SIF (MmN
(iii) Primarily that of debtor and creditor.
NPT (TR TF #STmIT |
(b) To gppstifute, a persop a5 a customey :
gow JfE oz oA ARefde =3 ¢
(i) There must bg f_requcncy of transaction
feq AW oW, 2R
_ (ii).: There must be of a banking transaction
@ TP @
+-(iif) There must ‘be sort 'of .dﬁ'ac'count.
R o oo Rpwt e w1

(c) The balance of a joint account in the name
of x, y and z should be pald by the bank
on:the:death of x : :

X%Wﬁmx,ymzﬂﬁﬁﬂiﬂ'mﬂﬁﬁﬂ
TN P ([T JIIT A IR ¢

R

(1). To the legal representative of x
x4 qigare aAfefigs
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(i) To y and z
y Sl z 3
(11i) Legal representative of x, y and z.

X, y OI€ 23 iz R |

(d) In the case of negotiable mstrument which
person generally gets a good title :

VT TS (PG aﬂ%?m AT
@mﬁawﬁmﬂﬁmfﬁe@,-

(i) Finder of the lost instrument
R o

(ii) Holder of stolen instrument
R ‘-"IEN qRE

(iii) Holder in due course.

WRRS WI

| (e) The reasonable penod allowed in, India for
presentation of a cheque is ;o

SReIS RS (5% Tt R wﬁw ﬂwﬁ‘m
el s .
- (1) 1 year
g I/
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(i) 9 months
T AR
(iii) 3 months *
R g
7 (f)" The safest form of crossing :
TS I T T
() General crossing
(i) Special crossing

- (iii) A/c payee crossing.
2o Rptofs I |

(g) A collecting banker is -given statutory
~ protection only when He acts as :

R @RS REE TR AR = T
@St (oe ¢ |

(i) A holder
I Y
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(ii) A holder for value ST e
(iii) An agent. '
gem AR |

(h) A banker’s: lien is :
AR PR A TG = ¢
(i) General lien

et SR A TG
(i) Particular lien
Rt wfem 79
(iii) Negative lien.
PN SR 3 TG

(i) Which of the following market is known as
short term loan market ? - '

wﬁmﬁr@mﬂawmﬁwmw
1@ @ e

(i) Call money market
o @ I
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_(ii)- Treasury bill market
(iii) Money market.

. @l I |

() The biggest constraints in E-banking is :
-E—@‘{%@ A SETRIR A
-(i) Start up cost
RS I

(ii) Trading cost

IR I
(iii) Security cost.
o

2.."AﬁsWer' any five of the following : 2x5=10

(a) Define the term ‘banker’ as per Banking
Regulation Act, 1949. ' '

$585 R R @QTA S PR @R
wcel faa |
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(b) Give the meaning of E-bankmg
R o o
(c) Define Non-Perfonnmg Asset.
(d) Who is known as coliecting banker.
TRATHR @A I 2 |
(¢) What is bank balance sheet ?_
A ST P e
(f) What is crossing of a Eﬁecjﬁ'ét?l
5T G @A T WA Ry
' (g) Name any four negotiable instruments.
. R SIRRY TEGARIY TREE AN e
(h) What is garnishee order?

A oo R e
3‘." Answer any four qucs_tiqﬁs of the .followihg in -
about 200 words each : C 0 5%4=20.

erl%c“m 008! *¥F foeve ﬁm@ BBt 2 Teq
(a) Explain the basic principles of commercial
banking. _ ‘

ﬂﬁWﬁWWﬁWWWl
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(b) Discuss . the procedure of opening a bank
account in the name of partnership firm.

SLNMI JPNTT e (@I Bl (AR
wﬁ%@ﬁ-wwn

(c) Briefly explain the different forms of bankmg
systcm

Wﬁﬁ’lﬁ%’ﬁ{{ﬁﬁi’%ﬁl

(d) lefergntl_ath betwegn a cheque and a Bank |
draft. ' ' '

| G¥ OF E G @ QRFET ARy Bl

(e) What aré the special features of banker’s |
lien ? |

@ T ReR @REpmE R o
3. ‘(f-) Discuss the meaning and mgmﬁcaﬁce of
_ llquxdlty
R O O %Y AR )
(g) State the modern functions of a bank.
| @B R SR PR S 1)
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4. Answer any }‘bur -of the followmg quest:lons in
about 600 words each : . ... 5 ¢

. Meoommﬁw—ﬁm@ﬁmwﬁﬁ
o BeT o 3 -

(a) DlSCllSS the rights of banker relatmg to

T T 545=10
- e Rewe WW\“WWWW
(1) Right to set-off
et Fesifeq wf‘wm

(ii) Appropriation of payment.
T v Rivcaes witeR)
~ Or/ meml

Explain the circumstances under which the
banker-customer relationship terminates. 10

@quﬁﬁﬁ%@aﬁﬁmawm@
TR AR <6 oIt =41

(b) What is private sector bank ? sttmgulsh
between public sector bank and priyate sector
bank. 2+8=10
s de7 @ e T W07 @ WS
IS 267 @ MG ANRPRR S 721
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(c) Discuss the different types on loans granted
by a banker to a customer. , 10

janaafﬁ @wmmﬁmwwm
WWWI

. (d)‘-:Wnte notes on (any Iwo) 5x2=10
"ot e (R e g ¢
(1) Doubled crossing
(3° AT
(i) Capital ﬁdequaciy‘ norm -
(iii) Hypothecation
(i) Bankers Boo}; Evidence Act.
| R R e kA |-

(e) Mcntmn the statutory protection granted to
© the collecting banker under the Negotiable
" Instrument Act, 1881. - 10

CbbY B TR iy R Sae
mam%@wﬁmﬁfmwm
e ]
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(f) Define endorsement. What are the different
kinds of endorsement ? Discuss the requisites
of a valid endorsement. - 2+4+4=10

qéwwaaﬂawﬁﬁiﬁmwwwﬁﬁw
@Y PITR SPII FAPZ A 354 |

Or / 9!

Discuss the sound investment principles of
a bank. 10

@Y T8 REAENIS T el 31|
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